9'2'4— ‘ | - 1 - :
e B S -
Q) Ves__,_ T,Mjk’- base b) No, Itis R-Aimensisral
_a>/ No. Base is not a polygen. ) \/_QE_-_‘_‘,LN_S_"'-_‘?{{QD' prism_
2-%) _ -
| a) 'W)[Ume of Lirst /gl;_k/er l‘squwr—Q 40 He Oroo—
dé‘F ‘e base, | o
- Area of base = 500 m?3 —.,{;WO bose ol
Vol of priem = 5000 m° Vo[= B h N
¥ L B = 5004 ]0 )
: . c5000m>
- ‘ SA= 2260m o Paces = 100+ 160+ 500 +500+500¢F
i A = 2200m> P |
}9 Voluvme of first ’_a\i(ef is eﬁqé)u:é Yo area 50( )
- fre foace - | |
E Avea of base= 5 bh " . ) |
™ o IS =%49.9 | .
" | = a9 . . 4
= ] = H0.5 cp” :
! o Vol of f*/a}/er= 40,5 cm™
® (Vol=-Bh. -~ L a :
e = 40,5+ 8 Sh= 12+72+ [OLL+HO5+05=
| I 7% _ 22b.bem”




4-39)

ﬁ) 5 ]/e'c.‘{‘a.&ﬁ le_

5}’90) D=17mm r= £&Smm

.T /4 T
| 3.2 (é’s*)
| /1: T25T » 326,87 pam®
|
iﬁ ‘ C: 77"0(
=304 /7
= 5355 m
| "
72 x iy
‘ a) P(green\:/-é'— = ﬁﬂ_—g{ri,' red

D/ 24 3" 1:52’ /é ﬁreen ruu-é(e:

0’5 ?("edho(fed)-s %64 210,15

not feﬂm&

d_) Pl red MJV@J) -"'{5;%':-#
s




